

New Solutions for Some Important Partial Differential Equations

Ahmed Hassan Ahmed Ali ¹ *, Kamal Raslan Raslan ²

¹ Mathematics Department, Faculty of Science, Menoufia University, Shebein El-Koom, Egypt.

Email : ahaali_49@yahoo.com

² Department of Mathematics, Faculty of Science, Al-Azhar University, Nasr-City, Cairo, Egypt.

Email : kamal_raslan@yahoo.com

(Received 16 March 2007, accepted 11 July 2007)

Abstract: New solutions of some important partial differential equations are obtained using the first integral method. The efficiency of the method is demonstrated by applying it for the linear Klein-Gordan equation, MKdV equation, Burgers' equation in two and three dimensions.

Key words: First integral method, Klein-Gordan equation; MKdV; Burgers' equation

1 Introduction

In various fields of science and engineering, many problems can be described by non-linear partial differential equations (PDEs). The study of numerical methods for the solution of partial differential equations has enjoyed an intense period of activity over the last 40 years from both theoretical and practical points of view. Improvements in numerical techniques, together with the rapid advance in computer technology, have meant that many of the PDEs arising from engineering and scientific applications, which were previously intractable, can now be routinely solved [1]. In finite difference methods differential operators are approximated and difference equations are solved. In the finite element method the continuous domain is represented as a collection of a finite number N of subdomains known as elements. The collection of elements is called the finite element mesh. The differential equations for time dependent problems are approximated by the finite element method to obtain a set of ordinary differential equations (ODEs) in time. These differential equations are solved approximately by finite difference methods. In all finite difference and finite elements it is necessary to have boundary and initial conditions. However, the Adomian decomposition method, which has been developed by George Adomian [2], depends only on the initial conditions and obtains a solution in series which converges to the exact solution of the problem. In recent years, other ansatz methods have been developed, such as the tanh method [3–5], extended tanh function method [6, 7], the modified extended tanh function method [8], the generalized hyperbolic function [8–10], the variable separation method [11, 12], and the first integral method [13–17]. In this paper, we use the first integral method to find the new exact solutions of the linear Klein-Gordan equation, the MKdV equation, the Burgers' equation in two and three dimensions which will be useful in the theoretical numerical studies.

2 The first integral method

Consider the nonlinear PDE:

$$F(u, u_t, u_x, u_{xx}, u_{xt}, \dots) = 0 \quad (1)$$

where $u(x, t)$ is the solution of the equation (1). We use the transformations

$$u(x, t) = f(\xi), \xi = x - ct \quad (2)$$

*Corresponding author.

where c is constant. Based on this we obtain

$$\frac{\partial}{\partial t}(\cdot) = -c \frac{d}{d\xi}(\cdot), \frac{\partial}{\partial x}(\cdot) = \frac{d}{d\xi}(\cdot), \frac{\partial^2}{\partial x^2}(\cdot) = \frac{d^2}{d\xi^2}(\cdot), \dots \quad (3)$$

We use (3) to transfer the PDE (1) to ODE:

$$G(f, f_\xi, f_{\xi\xi}, \dots) = 0 \quad (4)$$

Next, we introduce new independent variables

$$X(\xi) = f(\xi), Y = f_\xi(\xi) \quad (5)$$

which leads to a system of ODEs

$$\begin{cases} X_\xi(\xi) = Y(\xi) \\ Y_\xi(\xi) = F_1(X(\xi), Y(\xi)) \end{cases} \quad (6)$$

By the qualitative theory of ordinary differential equations [18], if we can find the integrals to (6) under the same conditions, then the general solutions to (6) can be solved directly. However, in general, it is really difficult for us to realize this even for one first integral, because for a given plane autonomous system, there is no systematic theory that can tell us how to find its first integrals, nor is there a logical way for telling us what these first integrals are. We will apply the Division Theorem to obtain one first integral to (6) which reduces (4) to a first order integrable ordinary differential equation. An exact solution to (1) is then obtained by solving this equation. Now, let us recall the Division Theorem:

Division Theorem: Suppose that $P(\omega, z), Q(\omega, z)$ are polynomials in $C[\omega, z]$ and $P(\omega, z)$ is irreducible in $C[\omega, z]$. If $Q(\omega, z)$ vanishes at all zero points of $P(\omega, z)$, then there exists a polynomial $G(\omega, z)$ in $C[\omega, z]$ such that

$$Q[\omega, z] = P[\omega, z]G[\omega, z]$$

3 Applications

In this section, we discuss the problems which involve the linear and the nonlinear PDEs using the first integral method described in section 2.

Example 1: We first start with the linear equation of the Klein-Gordan type

$$u_{tt} = u_{xx} + u \quad (7)$$

Using (2) and (3) equation (7) becomes

$$c^2 \frac{d^2 f(\xi)}{d\xi^2} = \frac{d^2 f(\xi)}{d\xi^2} + f(\xi) \quad (8)$$

Using (5) we get

$$\dot{X}(\xi) = Y(\xi) \quad (9a)$$

$$\dot{Y}(\xi) = \frac{X(\xi)}{c^2 - 1} \quad (9b)$$

According to the first integral method, suppose that $X(\xi)$ and $Y(\xi)$ are the nontrivial solutions of (9), and $q(X, Y) = \sum_{i=0}^m a_i(X)Y^i = 0$ is an irreducible polynomial in the complex domain $C[X, Y]$ such that

$$q[X(\xi), Y(\xi)] = \sum_{i=0}^m a_i(X)Y^i = 0 \quad (10)$$

where $a_i(X)$ ($i = 0, 1, \dots, m$) are polynomials of X and $a_m(X) \neq 0$. Equation (10) is called the first integral to (9). Assuming that $m = 2$ in equation (10). Due to the Division Theorem, there exists a polynomial $g(X) + h(X)Y$ in the complex domain $C[X, Y]$ such that

$$\frac{dq}{d\xi} = \frac{\partial q}{\partial X} \frac{\partial X}{\partial \xi} + \frac{\partial q}{\partial Y} \frac{\partial Y}{\partial \xi} = (g(X) + h(X)Y) \sum_{i=0}^2 a_i(X) Y^i \tag{11}$$

By equating the coefficients of Y^i ($i = 3, 2, 1, 0$) on both sides of equation (11), we have

$$\dot{a}_2(X) = h(X)a_2(X) \tag{12a}$$

$$\dot{a}_1(X) = g(X)a_2(X) \tag{12b}$$

$$\dot{a}_0(X) = -2\left(\frac{X}{c^2 - 1}\right) + g(X)a_1(X) \tag{12c}$$

$$a_1(X)\left(\frac{X}{c^2 - 1}\right) = g(X)a_0(X) \tag{12d}$$

Since, $a_2(X)$ is a polynomial of X , from (12a), we deduce that $a_2(X)$ is a constant and $h(X) = 0$. For simplicity, we take $a_2(X) = 1$, and balancing the degrees of $g(X)$, $a_1(X)$ and $a_0(X)$, we conclude that $\deg g(X) = 0$ only. Now we discuss this case: if $\deg g(X) = 0$, suppose that $g(X) = A_1$, then we find $a_1(X)$, and $a_0(X)$.

$$a_1(X) = A_1X + A_0 \tag{13}$$

$$a_0(X) = d + A_0A_1X + \frac{(-2 - A_1^2 + A_1^2c^2)X^2}{2(-1 + c^2)} \tag{14}$$

where A_0, d are arbitrary integration constants. Substituting $a_0(X)$, $a_1(X)$, and $g(X)$ in (12d) and setting all the coefficients of powers X to be zero. Then, we obtain a system of nonlinear algebraic equations and by solving it, we obtain

$$A_0 = 0, A_1 = 0 \tag{15a}$$

$$d = 0, A_0 = 0, A_1 = -\sqrt{2}\sqrt{-\frac{1}{1-c} - \frac{1}{1+c}} \tag{15b}$$

$$d = 0, A_0 = 0, A_1 = \sqrt{2}\sqrt{-\frac{1}{1-c} - \frac{1}{1+c}} \tag{15c}$$

Using (15a) in (10), we obtain

$$Y = -\sqrt{-d + \frac{X^2}{c^2 - 1}}, Y = \sqrt{-d + \frac{X^2}{c^2 - 1}} \tag{16}$$

Combining (16) with (9), we obtain the exact solution to equation (8) as follows:

$$f(\xi) = \frac{ie^{-\frac{i(\xi+\xi_0)}{\sqrt{1-c^2}}} (1 + 4(c^2 - 1)^2d + e^{\frac{2i(\xi+\xi_0)}{\sqrt{1-c^2}}})}{4\sqrt{(1 - c^2)}} \tag{17a}$$

$$f(\xi) = \frac{ie^{-\frac{i(\xi+\xi_0)}{\sqrt{1-c^2}}} (4(c^2 - 1)^2d + e^{\frac{2i(\xi+\xi_0)}{\sqrt{1-c^2}}})}{4\sqrt{(1 - c^2)}} \tag{17b}$$

where ξ_0 is an arbitrary integration constant. Then the exact solution to (7) can be written as

$$u(x, t) = \frac{ie^{-\frac{i(x-ct+\xi_0)}{\sqrt{1-c^2}}} (1 + 4(c^2 - 1)^2d + e^{\frac{2i(x-ct+\xi_0)}{\sqrt{1-c^2}}})}{4\sqrt{1 - c^2}} \tag{18a}$$

$$u(x, t) = \frac{ie^{-\frac{i(x-ct+\xi_0)}{\sqrt{1-c^2}}} (4(c^2 - 1)^2d + e^{\frac{2i(x-ct+\xi_0)}{\sqrt{1-c^2}}})}{4\sqrt{1 - c^2}} \tag{18b}$$

Similarly, for the cases of (15b)-(15c), the exact solutions are given respectively by

$$u(x, t) = e^{\sqrt{\frac{1}{c^2-1}}(x-ct+\xi_0)} \quad (18c)$$

$$u(x, t) = e^{-\sqrt{\frac{1}{c^2-1}}(x-ct+\xi_0)} \quad (18d)$$

These solutions are all new exact solutions.

Example 2: We next consider the nonlinear equation of the MKdV [5]

$$u_t = -u^2 u_x - u_{xxx} \quad (19)$$

Using (2) and (3) equation (19) becomes

$$-c \frac{df(\xi)}{d\xi} = -(f(\xi))^2 \frac{df(\xi)}{d\xi} - \frac{d^3 f(\xi)}{d\xi^3} \quad (20)$$

Integrating (20) gives

$$-cf(\xi) = -\frac{(f(\xi))^3}{3} - \frac{d^2 f(\xi)}{d\xi^2} \quad (21)$$

The constant of integration equal zero since the solitary wave solution and its derivatives equal zero as $\xi \rightarrow \pm\infty$. Using (5) we get

$$X \dot{(\xi)} = Y(\xi) \quad (22a)$$

$$Y \dot{(\xi)} = cX(\xi) - \frac{X(\xi)^3}{3} \quad (22b)$$

According to the first integral method, suppose that $X(\xi)$ and $Y(\xi)$ are the nontrivial solutions of (22) and $q(X, Y) = \sum_{i=0}^m a_i(X)Y^i = 0$ is an irreducible polynomial in the complex domain $C[X, Y]$ such that

$$q[X(\xi), Y(\xi)] = \sum_{i=0}^m a_i(X)Y^i = 0 \quad (23)$$

where $a_i(X)$ ($i = 0, 1, \dots, m$) are polynomials of X and $a_m(X) \neq 0$. Assuming that $m = 2$ in equation (23). Due to the Division Theorem, there exists a polynomial $g(X) + h(X)Y$ in the complex domain $C[X, Y]$ such that

$$\frac{dq}{d\xi} = \frac{\partial q}{\partial X} \frac{\partial X}{\partial \xi} + \frac{\partial q}{\partial Y} \frac{\partial Y}{\partial \xi} = (g(X) + h(X)Y) \sum_{i=0}^2 a_i(X)Y^i \quad (24)$$

By equating the coefficients of Y^i ($i = 3, 2, 1, 0$) on both sides of equation (24), we have

$$a_2(X) = h(X)a_2(X) \quad (25a)$$

$$a_1(X) = g(X)a_2(X) \quad (25b)$$

$$a_0(X) = -2(cX - \frac{X^3}{3}) + g(X)a_1(X) \quad (25c)$$

$$a_1(X)(cX - \frac{X^3}{3}) = g(X)a_0(X) \quad (25d)$$

Since, $a_2(X)$ is a polynomial of X , from (25a), we deduce that $a_2(X)$ is a constant and $h(X) = 0$. For simplicity, we take $a_2(X) = 1$, and balancing the degrees of $g(X)$, $a_1(x)$ and $a_0(X)$, we conclude

that $\deg g(X) = 1$ only. Now we discuss this case. Suppose that $g(X) = A_1X + B_0$ then we find $a_1(X)$ and $a_0(X)$.

$$a_1(X) = \frac{A_1}{2}X^2 + B_0X + A_0 \tag{26}$$

$$a_0(X) = d + A_0B_0X + \frac{1}{2}(A_0A_1 + B_0^2 - 2c)X^2 + \frac{1}{2}A_1B_0X^3 + \frac{1}{24}(4 + 3A_1^2)X^4 \tag{27}$$

where A_0, d are arbitrary integration constants. Substituting $a_0(X), a_1(X)$ and $g(X)$ in the equation (25d) and setting all the coefficients of powers X to be zero. Then, we obtain a system of nonlinear algebraic equations and by solving it, we obtain

$$d = \frac{A_0^2}{4}, c = \frac{-iA_0}{\sqrt{6}}, B_0 = 0, A_1 = -2i\sqrt{\frac{2}{3}} \tag{28a}$$

$$d = \frac{A_0^2}{4}, c = \frac{iA_0}{\sqrt{6}}, B_0 = 0, A_1 = 2i\sqrt{\frac{2}{3}} \tag{28b}$$

$$d = 0, c = 0, A_0 = 0, B_0 = 0, A_1 = -2i\sqrt{\frac{2}{3}} \tag{28c}$$

$$d = 0, c = 0, A_0 = 0, B_0 = 0, A_1 = 2i\sqrt{\frac{2}{3}} \tag{28d}$$

Similarly, as in the last example, the exact solutions are given respectively by

$$u(x, t) = i\left(\frac{-3}{2}\right)^{\frac{1}{4}}\sqrt{A_0}\tanh\left(\frac{(\frac{1}{2} + \frac{i}{2})\sqrt{A_0}(x - ct + \xi_0)}{6^{\frac{1}{4}}}\right) \tag{29a}$$

$$u(x, t) = (-1)^{\frac{3}{4}}\left(\frac{3}{2}\right)^{\frac{1}{4}}\sqrt{A_0}\tanh\left(\frac{(\frac{1}{2} + \frac{i}{2})\sqrt{A_0}(x - ct + \xi_0)}{6^{\frac{1}{4}}}\right) \tag{29b}$$

$$u(x, t) = \frac{i\sqrt{6}}{x + \xi_0} \tag{29c}$$

$$u(x, t) = \frac{-i\sqrt{6}}{x + \xi_0} \tag{29d}$$

where ξ_0 is an arbitrary integration constant. Now, we take $m = 1$ in equation (23) to solve the MKdV equation then by the similar procedure we get the new exact solutions

$$u(x, t) = (-6)^{\frac{1}{4}}\sqrt{A_0}\tan\left[\frac{(-1)^{\frac{3}{4}}\sqrt{A_0}(x - ct + \xi_0)}{6^{\frac{1}{4}}}\right] \tag{30a}$$

$$u(x, t) = (-1)^{\frac{3}{4}}(6)^{\frac{1}{4}}\sqrt{A_0}\tan\left[\left(-\frac{1}{6}\right)^{\frac{1}{4}}\sqrt{A_0}(x - ct + \xi_0)\right] \tag{30b}$$

$$u(x, t) = \frac{i\sqrt{6}}{x + \xi_0} \tag{30c}$$

$$u(x, t) = \frac{-i\sqrt{6}}{x + \xi_0} \tag{30d}$$

Example 3: In this example, we solve the Burgers' equation in two dimensions which can be written as

$$u_t + \varepsilon(uu_x + uu_y) - \nu(u_{xx} + u_{yy}) \tag{31}$$

where $u(x, y, t)$ is the solution of the equation (31). We use the transformations

$$u(x, y, t) = f(\xi), \xi = x + \beta y - ct \tag{32}$$

where β, c are constants. Then the equation (31) becomes

$$\frac{d^2 f(\xi)}{d\xi^2} = \frac{-c}{\nu(1+\beta^2)} \frac{df(\xi)}{d\xi} + \frac{\varepsilon(1+\beta)}{\nu(1+\beta^2)} f(\xi) \frac{df(\xi)}{d\xi} \quad (33)$$

Using (3) we get

$$\dot{X}(\xi) = Y(\xi) \quad (34a)$$

$$\dot{Y}(\xi) = \frac{1}{\nu(1+\beta^2)} \{-c + \varepsilon(1+\beta)X(\xi)\}Y(\xi) \quad (34b)$$

According to the first integral method, suppose that $X(\xi)$ and $Y(\xi)$ are the nontrivial solutions of (34), and $q(X, Y) = \sum_{i=0}^m a_i(X)Y^i = 0$ is an irreducible polynomial in the complex domain $C[X, Y]$ such that

$$q[X(\xi), Y(\xi)] = \sum_{i=0}^m a_i(X)Y^i = 0 \quad (35)$$

where $a_i(X)$ ($i = 0, 1, \dots, m$) are polynomials of X and $a_m(X) \neq 0$. Due to the Division Theorem, there exists a polynomial $g(X) + h(X)Y$ in the complex domain $C[X, Y]$ such that

$$\frac{dq}{d\xi} = \frac{\partial q}{\partial X} \frac{\partial X}{\partial \xi} + \frac{\partial q}{\partial Y} \frac{\partial Y}{\partial \xi} = (g(X) + h(X)Y) \sum_{i=0}^2 a_i(X)Y^i \quad (36)$$

By equating the coefficients of Y^i ($i = 3, 2, 1, 0$) on both sides of equation (36), we have

$$\dot{a}_2(X) = h(X)a_2(X) \quad (37a)$$

$$\dot{a}_1(X) = -\frac{2a_2(X)}{\nu(1+\beta^2)} \{-c + \varepsilon(1+\beta)X(\xi)\} + g(X)a_2(X) + h(X)a_1(X) \quad (37b)$$

$$\dot{a}_0(X) = -\frac{a_1(X)}{\nu(1+\beta^2)} \{-c + \varepsilon(1+\beta)X(\xi)\} + g(X)a_1(X) + h(X)a_0(X) \quad (37c)$$

$$g(X)a_0(X) = 0 \quad (37d)$$

Since, $a_2(X)$ is a polynomial of X , from (37a), we deduce that $a_2(X)$ is a constant and $h(X) = 0$. For simplicity, we take $a_2(X) = 1$, and balancing the degrees of $g(X)$, $a_1(X)$ and $a_0(X)$, we conclude that $\deg g(X) = 0$ or $\deg g(X) = 1$ only. If $\deg g(X) = 0$, suppose that $g(X) = A_1$ then we find $a_1(X)$ and $a_0(X)$.

$$a_1(X) = A_0 - \frac{X^2(1+\beta)\varepsilon}{(1+\beta^2)\nu} + \frac{X(2c + A_1\nu + A_1\beta^2\nu)}{(1+\beta^2)\nu} \quad (38)$$

$$a_0(X) = d + \alpha_4 X^4 + \alpha_3 X^3 + \alpha_2 X^2 + \alpha_1 X \quad (39)$$

where A_0, d are arbitrary integration constants.

$$\alpha_4 = \frac{(1+\beta)^2\varepsilon^2}{4s\nu}, \alpha_1 = \frac{A_0(c + A_1s)}{s}$$

$$\alpha_3 = \frac{(-1-\beta)\varepsilon(3c + 2A_1\nu + 2A_1\beta^2\nu)}{3s^2}, s = \nu(1+\beta^2)$$

$$\alpha_2 = \{2c^2 + 3A_1c\nu + 3A_1c\beta^2\nu - A_0\varepsilon\nu - A_0\beta\varepsilon\nu - A_0\beta^2\varepsilon\nu - A_0\beta^3\varepsilon\nu + A_1^2s^2\}/2s^2$$

Substituting $a_0(X)$, and $g(X)$ in (37d) and setting all the coefficients of powers X to be zero. Then, we obtain a system of nonlinear algebraic equations and by solving it, we obtain

$$A_1 = 0 \quad (40)$$

Then, by the similar procedure explained above we get the exact solution to (31) which can be expressed as

$$u(x, y, t) = \frac{1}{(1 + \beta)\varepsilon}(c + s_1)\tan[(x + \beta y - ct + \xi_0)s_1/2s] \tag{41a}$$

$$u(x, y, t) = \frac{1}{(1 + \beta)\varepsilon}(c + s_2)\tan[(x + \beta y - ct + \xi_0)s_2/2s] \tag{41b}$$

where ξ_0 is an arbitrary integration constant,

$$s_1 = \sqrt{(-c^2 - (A_0 + \sqrt{A_0^2 - 4d})(1 + \beta + \beta^2 + \beta^3)\varepsilon\nu)}$$

$$s_2 = \sqrt{(-c^2 + (-A_0 + \sqrt{A_0^2 - 4d})(1 + \beta + \beta^2 + \beta^3)\varepsilon\nu)}$$

These solutions are all new exact solutions.

Example 4: In this example, we solve the Burgers' equation in three dimensions which can be written as

$$u_t + \varepsilon(uu_x + uu_y + uu_z) - \nu(u_{xx} + u_{yy} + u_{zz}) = 0 \tag{42}$$

where $u(x, y, z, t)$ is the solution of the equation (42). We use the transformations

$$u(x, y, z, t) = f(\xi), \xi = x + \beta y + \gamma z - ct \tag{43}$$

where β, γ, c are real constants. Then equation (42) becomes

$$\frac{d^2 f(\xi)}{d\xi^2} = \frac{-c}{\nu(1 + \beta^2 + \gamma^2)} \frac{df(\xi)}{d\xi} + \frac{\varepsilon(1 + \beta + \gamma)}{\nu(1 + \beta^2 + \gamma^2)} f(\xi) \frac{df(\xi)}{d\xi} \tag{44}$$

Using (5) we get

$$\dot{X}(\xi) = Y(\xi) \tag{45a}$$

$$\dot{Y}(\xi) = \frac{-c}{\nu(1 + \beta^2 + \gamma^2)} Y(\xi) + \frac{\varepsilon(1 + \beta + \gamma)}{\nu(1 + \beta^2 + \gamma^2)} X(\xi)Y(\xi) \tag{45b}$$

According to the first integral method, suppose that $X(\xi)$ and $Y(\xi)$ are the nontrivial solutions of (45), and $q(X, Y) = \sum_{i=0}^m a_i(X)Y^i = 0$ is an irreducible polynomial in the complex domain $C[X, Y]$ such that

$$q[X(\xi), Y(\xi)] = \sum_{i=0}^m a_i(X)Y^i = 0 \tag{46}$$

where $a_i(X) (i = 0, 1, \dots, m)$ are polynomials of X and $a_m(X) \neq 0$. Due to the Division Theorem, there exists a polynomial $g(X) + h(X)Y$ in the complex domain $C[X, Y]$ such that

$$\frac{dq}{d\xi} = \frac{\partial q}{\partial X} \frac{\partial X}{\partial \xi} + \frac{\partial q}{\partial Y} \frac{\partial Y}{\partial \xi} = (g(X) + h(X)Y) \sum_{i=0}^2 a_i(X)Y^i \tag{47}$$

By equating the coefficients of $Y^i (i = 3, 2, 1, 0)$ on both sides of equation (47), we have

$$\dot{a}_2(X) = h(X)a_2(X) \tag{48a}$$

$$\dot{a}_1(X) = -\frac{2a_2(X)}{r}(-c + \varepsilon(1 + \beta + \gamma)X(\xi)) + g(X)a_2(X) + h(X)a_1(X) \tag{48b}$$

$$\dot{a}_0(X) = -\frac{a_1(X)}{r}(-c + \varepsilon(1 + \beta + \gamma)X(\xi)) + g(X)a_1(X) + h(X)a_0(X) \tag{48c}$$

$$g(X)a_0(X) = 0 \tag{48d}$$

where $r = \nu(1 + \beta^2 + \gamma^2)$. Since, $a_2(X)$ is a polynomial of X , from (48a), we deduce that $a_2(X)$ is a constant and $h(X) = 0$. For simplicity, we take $a_2(X) = 1$, and balancing the degrees of $g(X)$, $a_1(X)$

and $a_0(X)$, we conclude that $\deg g(X) = 0$ or $\deg g(X) = 1$ only. If $\deg g(X) = 0$, suppose that $g(X) = A_1$ then we find $a_1(X)$ and $a_0(X)$.

$$a_1(X) = A_0 - \frac{X^2}{r}(1 + \beta + \gamma)\varepsilon + \frac{X}{r}(2c + A_1r) \quad (49)$$

$$a_0(X) = d + r_4X^4 + r_3X^3 + r_2X^2 + r_1X \quad (50)$$

where A_0, d are arbitrary integration constants.

$$\begin{aligned} r_1 &= A_0(c + A_1r)/r, r_2 = (2c^2 + 3A_1cr - r_0 + A_1^2\nu^2(1 + 2(\beta^2 + \gamma^2) + \beta^4 + \gamma^4))/2r^2 \\ r_4 &= (1 + \beta + \gamma)^2\varepsilon^2/4\nu r, r_3 = (-1 - \beta - \gamma)\varepsilon(3c + 2A_1r)/3r^2 \\ r_0 &= A_0\varepsilon\nu(1 + \beta + \gamma + \beta^2 + \gamma^2 + \beta^3 + \gamma^3) \end{aligned}$$

Substituting $a_0(X)$, and $g(X)$ in (48d) and setting all the coefficients of powers X to be zero. Then, we obtain a system of nonlinear algebraic equations and by solving it, we obtain

$$A_1 = 0 \quad (51)$$

Then, by the similar procedure explained above we get the exact solution to (42) which can be written as

$$u(x, y, z, t) = \frac{c + s_3}{(1 + \beta + \gamma)\varepsilon} \tan[s_3(x + \beta y + \gamma z - ct + \xi_0)/2r] \quad (52a)$$

$$u(x, y, z, t) = \frac{c + s_4}{(1 + \beta + \gamma)\varepsilon} \tan[s_4(x + \beta y + \gamma z - ct + \xi_0)/2r] \quad (52b)$$

where ξ_0 is an arbitrary integration constant.

$$\begin{aligned} s_3 &= \sqrt{(-c^2 - (A_0 + \sqrt{A_0^2 - 4d})(1 + \beta^3 + \gamma + \gamma^2 + \gamma^3 + \beta^2(1 + \gamma) + \beta(1 + \gamma))\varepsilon\nu)} \\ s_4 &= \sqrt{(-c^2 + (-A_0 + \sqrt{A_0^2 - 4d})(1 + \beta^3 + \gamma + \gamma^2 + \gamma^3 + \beta^2(1 + \gamma) + \beta(1 + \gamma))\varepsilon\nu)} \end{aligned}$$

These solutions are all new exact solutions.

4 Conclusion

In this work, the first integral method was applied successfully for solving linear and nonlinear partial differential equations in one, two and three dimensions. Four partial differential equations which are the linear Klein-Gordon equation, the MKdV equation, and the Burgers' equation in two and three dimensions have been solved exactly. The first integral method described herein is not only efficient but also has the merit of being widely applicable. Thus, we deduce that the proposed method can be extended to solve many nonlinear partial differential equations problems which are arising in the theory of solitons and other areas.

References

- [1] A. R. Mitchell, D. F. Griffiths: The finite difference method in partial equations. *John Wiley & Sons* (1980)
- [2] G. Adomian: Solving Frontier problem of physics: The decomposition method. (*Boston, MA: Kluwer Academic*) (1994)
- [3] E. J. Parkes, B. R. Duffy: An automated tanh-function method for finding solitary wave solutions to nonlinear evolution equations. *Comput. Phys. Commun.* 98, 288-300(1998)
- [4] A. H. Khater, W. Malfiet, D. K. Callebaut, E. S. Kamel: The tanh method, a simple transformation and exact analytical solutions for nonlinear reaction-diffusion equations. *Chaos, Solitons & Fractals.* 14, 513-522(2002)

- [5] D. J. Evans, K. R. Raslan: The tanh function method for solving some important non-linear partial differential equation. *IJCM*. 82(7), 897-905(2005)
- [6] E. Fan: Extended tanh-function method and its applications to nonlinear equations. *Phys. Lett. A* 277, 212-8(2000)
- [7] E. Fan: Traveling wave solutions for generalized Hirota-Satsuma coupled KdV systems. *Z Naturforsch A* 56, 312-318(2001)
- [8] S. A. Elwakil, S. K. El-Labany, M. A. Zahran, R. Sabry: Modified extended tanh-function method for solving nonlinear partial differential equations. *Phys. Lett. A* 299, 179-88(2002)
- [9] Y. T. Gao, B. Tian: Generalized hyperbolic-function method with computerized symbolic computation to construct the solitonic solutions to nonlinear equations of mathematical physics. *Comput. Phys. Commun.* 133, 158-164(2001)
- [10] B. Tian, Y. T. Gao: Observable solitonic features of the generalized reaction diffusion model. *Z Naturforsch A*. 57, 39-44(2002)
- [11] X-Y. Tang, S-Y. Lou: Abundant structures of the dispersive long wave equation in (2+1)-dimensional spaces. *Chaos, Solitons&Fractals*. 14, 1451-1456(2002)
- [12] X-Y. Tang, S-Y. Lou: Localized excitations in (2+1)-dimensional systems. *Phys. Rev. E*. 66, 46601-46617(2002)
- [13] Z. S. Feng: On explicit exact solutions to the compound Burgers-KdV equation. *Phys. Lett. A*. 293, 57-66(2002)
- [14] Z. S. Feng: The first integer method to study the Burgers-Korteweg-de Vries equation. *Phys. Lett. A: Math. Gen.* 35, 343-349(2002)
- [15] Z. S. Feng: Exact solution to an approximate sine-Gordon equation in (n+1)-dimensional space. *Phys. Lett. A*. 302, 64-76(2002)
- [16] Z. S. Feng, X. H. Wang: The first integral method to the two-dimensional Burgers- Korteweg-de Vries equation. *Phys. Lett. A*. 308, 173-178(2003)
- [17] H. Li, Y. Guo: New exact solutions to the Fitzhugh-Nagumo equation. *Appl. Math. Comput.* 180, 524-528(2006)
- [18] T. R. Ding, C. Z. Li: Ordinary differential equations. *Peking University Press: Peking*(1996)